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83 MW 80 83 My 80
15127800 7514 800
0.46 A% 0.5 046205
2947 3000 2947 23000
1AW 1 A1
94777772 10000000 0477777 A%9000000
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71.3+2.8 AW 8+3 = 11 71.3X28x»% 7+3 = 10
332—142 A 300— 100 =200 332—142 »»»300— 100 =200
6.6 X3.3 M 1X3 =21 6.6 X3.3 mw 7X3 =20
47%X1.9 2~ 50X 2 =100 47X19 mv5b0x2 =100
08—+—53 M~ 100—5 =20 98+—53 MW 1005 =20
17.3—41 v 20—4 =5 17.3—41 mw20—4 =5




[ eE 2

1.3+2.8 ¥ 8+3 = 11
332—142 v 300—100 =200
6.6 X3.3 MW 1X3 =21

47x1.9 M¥ 50x2 =100
98+—95.3 MW 1005 =20
17.3—41 MW 20—4 =3
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1.3%x28x»% 7+3 = 10
332—142 »»w300— 100 =200
6.6 X3.3 mw /X3 =20

47X1.9 amvd0x2 =100
98+—5.3 AW 100—5 =20
17.3—41 Mmwv20—4 =5
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R RIE | Do UEED | Do ILEQ| KED | Po—LEHEQ | a—-ILEQ| KEQ
1.3+2.8 10.1 8+3 11 9% 71+3 10 —1%
332—142 190, 300—100 200 9% 300—100 200 9%
6.6 X 3.3 21.8 7X3 21 —4% 1%X3 20 —8%
47%1.9 89.3 90 % 2 100 12% 90 % 2 100 12%
98-+5.3 18.5 1005 20 8% 10095 20 8%
17.3+4.1 4.2 204 9 18% 204 9 18%




